L)
SSH Stainless a-s SSH
AQ70 HD and HP cylinders
A + stroke p2
~c
1 AQ70 HD j — i
~C |
T‘ 4 N NV % $
1 L
+H-—- -— gD — s — h +—pH—-—1 21 g - -
= l ] 1
% LM%
| I—| | i |
B + stroke ‘ m1— ‘ g ‘
1 1 9
Vv m =
AQ70 HP i
ES n1—
T s j;ri
-+ = -— 2dl/ed2 —- - Z
L Dimension
oD 25 32 40 50 63 80
od1/9d2 12 16 25 30 40 50
A 133 166 176 213 228 269
B 98 131 141 173 183 209
cl 13 16 17 21 22 26
e 26 29 30 33 39 39
il 1/8 " 1/4” 1/4” 3/8” 3/8” 1/2”
g 50 50 65 75 85 110
gl 70 70 90 100 120 140
h 40 53 58 68 75 100
m1l 35 35 35 40 45 60
nl 25 25 25 30 35 40
NV 10 13 22 27 36 42
p2 9 9 11 11 14 14
S 30 40 50 60 75 95
z1 M10x1,5 M12x1,75 M22x2,00 M24x1,50 M36x2,00 M36x2,00
z2 M8x1,25 M8x1,25 M16x2,00 M20x2,50 M24x2,00 M24x2,00
vl 8 9 9 11 15 18
How to order: EE Eksempel p& ordre: [+
AQ70 HD x1 / x2 * x3 AQ70 HD x1 / x2 * x3
x1: Inside diameter : 50 mm x1: Indvendig diameter : 50 mm
x2: Piston rod 30 mm X2: Stempelstang > 30 mm
x3: Stroke 200 mm x3: Slagleengde : 200 mm
Ordering code: AQ70 HD 50/30*200 Ordre kode: AQ70 HD 50/30*200

SSH Stainless a.s * DK-5700 Svendborg * Tel.

+45 6221 8531 * Mail ssh@ssh-stainless.dk * www.ssh-stainless.dk

3.7


mailto:ssh@ssh-stainless.dk

